BGX & BGC Y—X##&~tixk (H-B)

N A~ I -
v — 1 ——
m— - —— —
U Tgh U 42 e
= ity
@§ E@ J %\ %: L
—C ! 4
©d BN , BE
#BL:BGX — J1 ; BGC — J n_lw
s . . . . vy | L—Ib
g | T F0Y9F i - mm LIt - mm EAEBHE- N | BEHEE N, | 5 |
H|IW|[W2| E L B|J [J1|MQ | L1 OilH T N |W1[H1 | F d D h |C-BGX|C-BGC|C0-BGX | C0-BGC My My Mz kg kg/m
H15BN | 28 | 34 | 9.5 | 3.4 | 58.6 |26 |26 M4 | 6.0 | 40.2 | M4X0.7 | 9.5 | (5.7)[15|13.0|60 |45 (75|55 | 130 1.5 21.6 196 0.136 | 0.117 | 0.117 [ 0.19 | 1.28
H20BN | 30 | 44 |12.0| 4.5 | 70.1 | 32|36 M5 | 6.5 | 485 | Mex1 | 7.1 [(12.3)[20(16.3|60 [6.0 95|85 | 215 | 17.7 | 336 305 |0.285 | 0.220 | 0.220 | 0.31 | 2.15
% | H20BL | 30 | 44 [12.0(4.5 | 82.9|32|36|50 | M5 | 6.5 | 61.3 M6X1 7.1 (12.3)[20(16.3|60 [ 6.0 | 9.5 [ 8.5| 260 23.0 43.5 395 0.369 | 0.361 | 0.361 | 0.36 | 2.15
H20BE | 30 | 44 |12.0| 4.5 | 98.1 | 32|50 M5 | 6.5 | 76,5 | Mex1 | 7.1 [(12.3)[20(16.3|60 [6.0 95|85 | 309 | 27.3 | 53.8 489 |0.456 | 0.557 | 0.557 | 0.47 | 2.15
H25BN | 40 | 48 |12.5| 5.8 | 79.2 35|35 M6 | 9.0 | 57.5 M6X1 |14.2|(12.2)[23]|19.2|60 | 7.0 [11.0]| 9.0 | 28.1 24.8 452 411 0.440 | 0.352 | 0.352 | 0.45 | 2.88
s | H25BL | 40 | 48 (12.5(5.8 | 93.9 |35|35|50 | M6 | 9.0 | 72.2 M6X1 |14.2 ((12.2)]23]19.2(60 | 7.0 [11.0| 9.0 | 33.7 31.9 58.1 528 0.566 | 0.568 | 0.568 | 0.66 | 2.88
H25BE | 40 | 48 |12.5| 5.8 | 108.6 35|50 M6 | 9.0 | 86.9 M6X1 14.2 ((12.2)| 23 (19.2(60 | 7.0 |11.0| 9.0 | 380 36.0 69.6 633 0.679 | 0.819 | 0.819 | 0.80 | 2.88
H30BN | 45 | 60 |16.0| 7.0 | 94.8 |40 (40 M8 | 12.0 | 67.8 M6X1 13 [(11.7)|28|22.8|80 | 9.0 [14.0|12.0| 416 36.7 60.1 546 0.706 | 0.551 | 0.551 | 0.91 | 4.45
% | H30BL | 45 | 60 |[16.0| 7.0 | 105.0{40 (40|60 | M8 | 12.0| 78.0 M6X1 13 |(11.7)[28]22.8|80 | 9.0 [14.0|12.0| 48.1 47.5 77.8 70.7 0.915 | 0.821 | 0.821 | 1.04 | 4.45
H30BE | 45 | 60 |16.0| 7.0 | 130.5|40 |60 M8 | 12.0|103.5| M6X1 13 [(11.7)|28|22.8|80 | 9.0 [14.0|12.0| 579 52.9 95.4 86.7 1.122 | 1.336 | 1.336 | 1.36 | 4.45
H35BN | 55 | 70 |18.0| 7.5 | 111.5| 50 | 50 M8 | 12.0 | 80.5 M6X1 |18.5((11.5)|34|26.0 80 | 9.0 [14.0(12.0| 59.4 52.3 89.2 81.1 1.282 | 0.972 | 0.972 | 1.50 | 6.25
% | H35BL | 55 | 70 |18.0( 7.5 | 123.5(50 (50|72 | M8 | 12.0 | 92.5 M6X1 |18.5((11.5)[3426.0(80 | 9.0 |[14.0|12.0| 688 65.4 111.5 101.4 | 1.602 | 1.396 | 1.396 | 1.80 | 6.25
H35BE | 55 | 70 |18.0| 7.5 | 153.5(50 | 72 M8 | 12.0 [122.5| M6X1 [18.5|(11.5)[34|26.0|80 | 9.0 (14.0{12.0| 816 71.9 137 8 125.3 | 1.981 | 2.286 | 2.286 | 2.34 | 6.25
H45BN | 70 | 86 |20.5| 8.9 | 129.0| 60 |60 M10| 18.0 | 94.0 | M8X1.25|24.4 |(10.8)[45|31.1|105|14.0{20.0(17.0| 812 71.6 119.8 108.9 | 2.300 | 1.524 | 1.524 | 2.28 | 9.60
s | H45BL | 70 | 86 [20.5| 8.9 | 145.0{ 60| 60|80 |M10| 18.0 |110.0 | M8X1.25|24.4 |(10.8)|45(31.1|105|14.0|20.0(17.0| 89.7 85.1 1425 129.5 |2.736 | 2.122 | 2.122 | 2.67 | 9.60
H45BE | 70 | 86 |20.5( 8.9 | 174.0| 60 | 80 M10| 18.0|139.0 | M8X1.25|24.4 ((10.8)| 45 (31.1[105|14.0|20.0|17.0| 103.6 | 98.4 179 6 163.3 | 3.449 | 3.379 | 3.379 | 3.35 | 9.60
H55BN | 80 |100|23.5|12.7| 155.0( 75|75 M12| 22.0 |116.0 | M8X1.25|24.0 ((10.8)| 53 [38.0 {120|16.0|23.0|20.0( 104.7 | 86.2 146.7 133.4 | 3.303 | 2.304 | 2.304 | 3.42 |13.80
3% | H55BL | 80 [100(23.5(12.7|193.0( 75| 75|95 [ M12| 22.0 | 154.0 | M8X1.25 | 24.0 ((10.8)| 53 [38.0 {120(16.0{23.0|20.0| 131.9 | 116 3 | 196 8 178.9 | 4.428 | 4.101 | 4.101 | 4.57 |13.80
H55BE | 80 |100(23.5(|12.7|210.0| 75|95 M12| 22.0 (171.0 | M8X1.25 | 24.0 |(10.8)| 53 |38.0 |120(16.0|23.0(20.0| 166.0 | 157.7 | 279 0 2536 |6.279 | 6.458 | 6.458 | 5.08 |13.80
Wr:
EEL
40
o I I N T
S NS N S O
(um) [ I I B I ey o
00— T P BEHEP)
AC [ = e =
I
AD | qob—L L L s mmmmee)
Ll e msmmor)
0 | | | | | |
1000 2000 3000 4000
Bi-1, LIl RSEEDFITE
Bf:mm
BELAIL ik 3 L& fEE R B L4 2 4%
HHE (N) (H) (P) (SP) (UP)
MBI EETRERE (H) £0.1 | £0.04 0 0 0
=1 C R =Y. =Y. -0.04 -0.02 -0.01
MBITIETEHRE (W) £0.1 | £0.04 0 0 0
=Y. =Y. -0.04 -0.02 -0.01
BEORTHEZE (A H) 0.03 0.02 0.01 0.005 0.003
RORTPHEZE(A W) 0.03 0.02 0.01 0.005 0.003
EICHT3 (Al mOENTFTE A CELRI-1BR
[D] Elcxd 93 [B]ADENTEITE ADELRI-1BE






